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3. 0gougouon I

3.1 10000000000OOoOO (oo)

00 31.00 ICROO10000 fO0eel000000O0Y
lim f(z) = f(a)

r—a

0000000000000 f0000 1000000000 fO0 10
ooboooooooobooooooooboooono

0 3.2 (1) 00000014((Q0000000000
1 (z#0),
xTr) =
f=) {O (x =0).
oo ili%f(x) = CEh_}gof(ac) = mgrgof(x) =10000 f(0)=00
(2) 0000 f000000000
fz) = cos = (z#0),
0 (x =0).
D000 = g4 Yn = @agr (0= 1,2,3...) 000000 {2},
{9} 00000 000000 lim f(z,) =1, lim f(y,) =—-100
n—oo n—oo
000 lim f(x) 0000000 o
xr—r
1600000000000000000000000O0
00 3.3. 10000 fO0 «00000000 ¢«00000OO
gobooooooog
(lim f(2)) = F(a) = lim (f(2) = f(@)) = Jim (f(a+h) = f(a)

i (HER =10, (e S ()

h—0 h h—0 h—0

= f'(a) x0=0.

20240 60 250/270

Yoo: continuous; 00 0O 0: a continuous function.

0000 ¢ 0 « D0000000000000000 f(z) 0 f(e) 000000 3.2(2) 0000
goooooooooooooooo

f(z) = |=| flz)= ¥z
031 O34

034. (1) OO f(x)=z|0 0000000O0O0O0O 31000
(2) flx)=%¥2(xeR)00000000 fOO00DDOO0OOOOOODO
F() - FO)] _ 1

h \B/EQ

000000 fO00000000O00O0O0ODOOOOOO0O 3.1000
(3) 0140 (1) OooOoOoOoOO

— 400 (h—0)

1 1
2?sin= + -z (2 #0)
fz) = v 2
0 (x =0)
000 (0O0O0OO0 ROOD)ODOODOOO

1 1 1
2zsin— —cos—+ = (x#0)

fw=q, *© 7
) (x=0)
000000 f0)0 “00000000”3 000000 &

m CF-000 0000000010000 f000 10

e CO-DODOD YOO IODOODODO

e C-00DODOOI/DOOOODOOODOO f/OID0O0DOOOOOO

e CFODOkK>00000000D000f0 kODOO f®ODO0ODOO
000 7000000000

e C°.0000D00DOODOODOO ADOODO CkODOODOO
oooo

30oooo0000: the squeeze theorem.
DC0-0: of class C°; C™-0: of class C"; C*°-0: of class C™ (C-infinity).
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035 e 034(3)000 f0ROOOODOOOC-0000000
000320 (200000 f000000000

e 0100000000000000000000 C®-0000000

0000 ¢z0 {z|z>0,000000000000 o

3.2 0OO0O0OO0O0O0O0O0O0O000000

O0o0ooobDooooOooo0oobooooboobooOoo 20000
00000000000 ReR0O000 (n>2)00000000000

s 00 0OO0OO0O0OR200000 DOOOOOOOOOOOO “0O000
0000000 00000%00000 RROOODOoOoooooon®

{(z,y) € R?|2? +¢* < r?}, {(z,y) eER*|la<z<bec<y<d}
0000000000000 r,a,b,¢,d0r>0,a<bc<d00000

m 00 20000 fO00000 ADOOOO
(3.1) lim  f(z,y)=A (f(x,y) — A ((m,y) — (a,b)))

(2.y)—(a,b)
0000 700 (¢,y) 000000000 (e,b) 000000 f(z,y) OO
0 ADDDODOOOO0®mMO000000 (a+h,b+k) 0 (a,b) 000

0000 (hk)O (0,00 000000000000

3.2 lim z,y) = lim a+h,b+ k).
( ) (z,y)—(a,b) f( y) (h,k)—(0,0) f( )

00 3.6. 20000 a, 8, f O

lim  «a(h,k) =0, lim h,k) =0, lim x,y)=A
(h,k)—(0,0) (h. k) (h,k)%(O,O)B( ) (z,y)—(a,b) fz:9)
gooooooooo li h,k),b h,k)) = A.
sl f (ot ath k). b+ B(h k)

500: adomain; 0000000000 OOOOOOO

9000: an open disc; 00O 0: an open rectangle (rectangular domain).

(z,y) = (a,b) 000000000000F0 (a,b) 0000000000000000000D00
0 00O the limit.

8000000000000 000000000000000000000000000000000000
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0O 3.7. (1) (31)000000000000000000000O0O0
020000 {h,}, {k,} 0000 9000000000000

lim fla+ hbt k) = A.
(2) (3.1)0 000D00000000000000{f(a+ hn,b+k,)} O
A0000D0D0000000000000 {h,}, {k,}) 000000
000000000000

038 (1) R2OOOOOOOOOO

2xy
21 (@) #(0,0
o) = 17T ((z,y) # (0,0))

0 ((z,y) = (0,0))
0000000 260000000h, =1/n,k,=1/n,kl, =—-1/n
030000 {hn}, {k.}, {k,} 0000000000 0D0OODODO

lim (k) =1, lim f(ha, k) = —1
0000000100003.7(1)000(x,y) —(0,00000 f(z,y)
010000000000000000002000 f(z,y) 0 -1
00000000000000000000 (z,y) — (0,0) 000
f(z,y) 000000D0000D000O000

goboboobOyOOOOOOO0ODOO10D0000000DO0O0O0O

. . 2zy . .
ggf@w%—ggﬂ+yz—0 ooo ;%(gg<aw)—a
ooo
2xy

;13% (x’y>:1}1£>%$2+y2:0 ooo ig%(ig% (x7y)):0.

2) f(r,y) =@ —yH)/(2*+y*) 0 (z,y) — (0,00 000000000
ooooooooo

hmOmfmm>=L 1m(mw@@):4.

z—0 \ y—0 y—0 \z—0
(3) 0O fz,y) = ay(@®-y*)/(2* +4*) O (z,9) - (0,0) 0000 0
O000000r>00 60000 x=rcosf,y=rsinf 00000

9)000o0000o: arbitrary; 000 X 0000 POOOOO: P holds for an arbitrary X.
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(z,y) = (0,000 r=+/22+y? 00000000000
(*)  f(z,y) = f(rcosh,rsinf) = r? cos § sin (cos®  — sin? #)
= %7’2 sin 26 cos 20 = irz sin 46
000|sin40| <10000(+x) 000000 000000 <

m 000 O03100000020000000000000000000
00 3.9.00 DCcR?00 20000 f0 (a,b)eDDOOOOOOO0O
lim  f(z,y) = f(a,b)

(z,y)—=(a,b)
gooopoooopopooooD foooo poooOOOOOODODOODOOO

f0DODDOOOOO DPOOOOOOOOOOOOO

0 3.10. (1) 0380 (1)00O0 fO0 (0,00000000000000
00000 £.(0,0)= £,(0,00=00000

(2) 00D0O0O00O0 2900 (0,0000000000 3.8 (3)M

flz,y) = w ((z,) # (0,0))

0 ((x,y) = (070)) <>

Ul z,yOO0O0O0OOOO0OO0O0OO0O0DOOOOOOOOOOOO0DOO00OO
gbobooooobooboboboboboooboboboboooobon
ooboooboooob obOboOooooobooooogd

m 00000 03100 (1) 00000000000O00O0OO0ODOOOO
ooboobooooooobooobooooooon

00 3.11. 00 DCcR200000000 f(z,y) 0 (a,b) e DOOOOD
00000000 A, BOODOOOODODOOO0O (hk)#(0,000000

(3.3) fla+h,b+k)— f(a,b) = Ah + Bk +e(h,k)\/h? + k2
000 eh,k) 0000000 DDOOOOOOOODDOO

lim e(h,k)=0.
(h,k)—(0,0)

030 (20240625) 30

00 3.12. 00 f(z,y) 0 (¢,b) 000000000f0 (a,b) 00000
000(3.3)000 A, BO A= fu(a,b), B=f,(a,b) 0000000000

0000 (33)0 k=0000
_ 2
fla+ h,b) f(a7b):Ah+s(h,0)ﬁ:A+E(h’0)u
h h h
000 —|e(h,0)| < e(h,0)2 < |e(h,0))000 h—-00000 ¢(h,0)— 0000
T f(a+hvb)_f(a7b)_
A= lim . = fa(a,b).
00 h=0000000 B= fy(a,b) 000000 O

h

0000000311 000000000

00 3.13. 00 DcR*00000000 f(z,y) O (a,b) e DOOODO
000000000000000f0 (e,b) 00000000

(3.4) lim  e(h,k)=0

(h,k)—(0,0)
(E(h K) = fla+h,b+k)— f(a,b) —fm(a,b)h—fy(a,b)k)
O0ooooooood

00 3.14. 00 f0O (a,b) 00000000 (a,b) 0000000

0000 (3.3)0000 (hk)—(0,000000000 O

00 3.15. 00 3120000000000000 3.8(1)0 f0O (0,0)0
oooooooooobooooo3ooobbbooooooonD 314000
oooooooogao

s JO0O00O0O0oOooo

00 316. 0O DOOOOOO 20000 f0 DOOOOOOOOOO
oo0oooo f, f,0D000000 f0 DOOOOOOOOOOOO

oobooooooobooboooooo3sbooooogn



31 (20240625) 030

0O 317. 00316 000000000000

1
2 N ¢in ——
flz,y) = (x* +y%)s T ((z,y) # (0,0))
D (0,00000000000 f,, f, 0000000000 ¢

s J0000o0o0ooo

00 3.18. 00 DCR*000000 20000 f0200200000
foy, f, 000000000000000, foy = f,e 000000

m CF-000 OO0 DCR?00000020000 fO0 DO
e C'-000 DOOODODDO
e Cl.0D0 DODOODOODODODOOOSf, f,0 DOODOOOODOOO

e C20000000f0200000 fan fays fyer fyy 000000
0000000 DOOOOOOOO0O

e CF-O0D0KDODO0OOOOO fO KDODODODODOOOOOOOOOO
o0 pOoooOoOoDoOooDo

e C*-00000000 kDOO00O0 CkOOOOOOOOOO
0 3.19. 00 DcR?00000000 f0O

1) 0000000 ¢-0000000 3.1400

(1)

(2) Cl-00000000000000 3.1600

3) k<mOOO Cm-OO0OD0O Ck-OOD0D0OD0

(4) Cc*-0000 fuo=f,, 00000000 3.1800

3.3 OOooOaoan

00 f(z,y) 000000 P=(e,b) 00000000000

(35) @ = (L. Haw)

030 (20240625) 32

0000002000000 (df)p 000 f00 POODOODOOODDOO
00000 Y00000(2,y) 0000 2000000 (fuo(z,y), fy(z,y))
00000000 d4df0 fO000000O0OODOOOO

_ (91 of
(3.6) df = (&E’(Q)y)'
0 3.20. 00 ¢(z,y) ==, Y(z,y) =y 0000 dp = (1,0), dv = (0,1) O
0000D00000000000dz=(1,0), dy = (0,1). &

032000000000 (3.6)0

) 9
(3.7) df = a—idx + a—idy

000000000000000000000000000

0 3.21. 000000000 (33)0000000(hkk) O (0,00 000
VRZ¥ K2 0000000000000000000000000000(h,k)
0 (Az,Ay) 00000000 (0,00 0000000000000

0 0
(3.8) Af= a—i(a,b)Am + %(a,b)Ay,

(Af ::f(a+Ax,b+Ay)—f(a,b))
g0ooobobdb =00boobooboobboboobobooooo
gdddddodoodoouooooooboooooboobobo &

» 0000000 0000000 7000000010000 z(t), y(t)
0O (z(t),y(t)) D 1000000 R2O00000000O

i I3t y(t) = (2(t),y(t)) € R%
000000000000000000000000 000 '™Wooooog
0000 2(t), y(¢) 0000000000000 00 2000000 ¢

9pgp 2000000000 20000000000000 (1,2)-000000000000D000D
000000000000000 40000;000000a row vector 000000 a column vector;
0000 a total differential; 0 0 O a differential.

11)DD[Iacurve; 00000000000 a parametric representation of the curve.
2)Npoo0000 4000 “0000” 0000000000000000000 y(t) = (t—sint, 1 —
Cost) 0000000 (eycloid) 000000000 DOOOOO 20000000000000000
C*-0000000¢t=2nr 000000 (2nm,0) (n=0,£1,+£2,...) 00000000000



33 (20240625) 030

000007 00000000000 () = (z(t),y(t)) 0000

()= 0 = @0.90) = (0.5 0)

000000 (2(t),y()) 0000000000000 ¥000000 ¢0
000000000~ (¢) 000 ¢+ 0000000000000 00DO0O0O0
00 y¢)0000000000000000000UOUOODooooooo
000 4¢) 000 ¢t0000000000000O00O00O0000O0D
0322, (1) 0000 v=(v;,v,) 00 P=(a,b)0000
v(t) = (a+ tvr, b+ tvg)
0+t=000 PODOOUODOOUOD o0OO0OOO0OOOODOODO
O POO0OoO000ODODOODOODO 32000
(2) DODOOO s0O0O00 o(s) = (coss,sins) (—m<s<m) OOOO
0000000 10000 (-1,0) 000000000 #0000
0000 (—sins,coss) 000OODO0OOOODO 100000000 3.2
gooo
(3 DO0O0DOUDOODO0OD0OD 10000 (-1,0)0000000000

5(t) = (1_’52 2t> (=00 < t < 50).

14427 141¢2
0000 ¢t=tan$ 00000(2) 0000000000 3.2000¢

20000 f(r,y) 00O ~(t) = (2(t),y(t)) 0OOOO
(3.9) F(t) = f(x(t),y(t)-
001000000000

00 3.23. 0000020000 f(z,y) 00000000 y(t) = (x(t),y(t))

00000@B9Y 0 1000000000000000OooOo0ooOO

0= T @Oy0) G0+ 5 (wl,0) G0,

00000 ¢+0000000060 10000 h(8), k6)0ODODO
h(d) :=z(t 4+ 6) — =(¢), k(8) :==yt+ ) —y(t)

30000000 the velocity vector; 000 the speed. 000000000000
Mgpgoa line; O O a circle.

030 (20240625) 34

(&) (2) (3)

032 0O 3.22

00000,y 000000 6§—0000 A(S), k(§) »00000

e1(9) = LD =H0 g 2 Oy ) =MDy

00000z(t),y(t) 00000000 6§ —00000e1(4), e2(6) - 0000000
0000000f00000000

F(t+6)—F(@) = f(ac(t—i—d) y(t+0)) — f(z(t),y(t))
= f(z(t) + h(d),y (9)) = fz(),y(1))

= %(“’(t%y(t ))h(3 (w ) 8) + e (h(8), k(6)) \/h(8)2 + K(5)?

0000000 e(hk) O (h,k) (0,0)0o00o00O0DOODODOOOODOOOD
F(t+6)— F(t)
5

= 2 @00 0+ £10) + 3L @0.0(0) (10 + ()

)

H\/ )+ e (
000 6§ 0000 57(5)—>0 (]-12)IZIDD (h
e(h(6),k(8)) - 00000 {|5|/5|_1DDDDDDDD

(6
O
F'(t) = lim M = %(x(t),y(t)) a—f

5§—0 1)

8)) + (y(t) +2(8)).
), k(8)) — (0,0) 0OD
oo

(x(t), ()5 (t) O
ogd

0000000 “c0”b000000000000000000000000000
goboooooooooooooooooooon
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O00.000 I=[eb 002000000 z,y00 v(t) = (2(t),y(t)) (a <t <b)
00000 RP0000000 v(e)0y(b) 00000 y000,000000

00. 0000 R*00000 DOOODOODOOODOOO0 P,QOODO PO
000QODDO0DD0O000 v: [a,b] =R*00 ~(t) (a<t<b)0 DOODODO
000000000000000(MOD0000000 “00000” 00000
00. 0000 R*00 P=(e,b) 00000 e0O000

Ue(P) == {(z,y) € R*|(z — a)* + (y = b)* <"} CR?
000000 R?000000 “0 POOOOOODOO 000”0000

00. 000D RP0O0000 DOOOO Y¥ooooOo DOOO POOOO

U (P)CcDOOOOOOOOD edD00D0OODOODOOOO
0000000000000 00000DDD0O00

00. 0000 F:R?-ROO0O0O00 {(z,y) € R?|F(z,y) >0} 0 R*> 00

oooooo

O0. 0000 RPO0D0OO0OO0OO00O0000000000000

00 3.16000 3.18000
000000000000000000000000000000 *¥Yooooo

00 (DODO0O0OO0). 00 fODD I0DODO0ODODOOOODO ael0a+hel
000000 AOO0DO0OOOO0O0O 000000

fla+h)—fa)=f(a+0h)h (0<0<1).

00316 00000 (a,b) e DO0DDDDDONDDOOOOOODODO h kODODO
0 (3.4) 0000 e(h, k) 0000000 00000000000000KOOOOO
00 F(h) = fla+hb+k)—fla,b+k) 00000 f000000000 FO R
000000000 F'(h) = fu(a+h,b+k), F0O)=0000000000 FOO
00000000000
F(h)=F(h) — F(0) = F'(0h)h = fu(a +0h,b+Ek)h  (0<0<1)
0000 A0D00000000 G(k) = fla,b+k)— f(a,b) 00000k DODD
G(k) = G'(0k)k = fy(a,b+dk)k  (0<d<1)
0000 /000000000000000
th:Fmanm—ﬁmwm—ﬁwww
’ VRZ + k2

¥)goo: an open set; DO O0O: a connected set; 00 : a disc (disk).
19)g00000: the mean value theorem. 000000000000000000

030 (20240625) 36
h k
—(ﬁm+9hb+k%<hwﬁbvﬁi?g+Uﬂmb+ﬂﬂfhwwD;¢;ﬁ§

000000k < |Al, |6k < |kl DO h/VRZ+E2 £ 1, |k/VAZ T A2 <1 0000
00 (hk)— (0,00 0000 000000 O

00 3.1800000 (a,) e DODODOD0 fuy(a,b) = fya(a,b) 0000000
fla+h,b+k) — fla,b+k)— fla+h,b) + f(a,b)

V=V(hk):= e
00000000A k000 0000000000000
1F(h) —F(0
V:E‘LLF4L2 (F(t):= fla+t,b+k)— fla+tDb))

O00F () = fo(a+t,b+k)— fo(a+t,b) 000000000000000000

vzéﬁ@mzéuumwmw+m—hm+mmm

:%(Fl(k)*Fl(O)) (Fi(t) == fo(a+ 01h,b+1))

000 6, €(0,1) 000000000 F(t) = fay(a+6:h,b+¢) 00000000
00o00oooO0ooooog 64,0, 00000000O0ODOOO

(*) V = fay(a+ 610, b+ 62k) (61,602 € (0,1)).

000 V = (G(k) — G(0)/(hk) (G(t) :== fla+ h,b+1t) — f(a,b+1¢)) 0000
(%) V= fya(a+@ih,b+p2k)  (p1,02 € (0,1))

000 o1, p 000000 fay, fye 000000 (%), (%) O (h,k) = (0,0) 00
00000000 fey(a,b) = fye(a,b) 000000000000 O

U U 3

3-1 [0 34,38,310,3.1700000000

3-2 2000000000000000000000000000000000OC-
0000000000000000000
000000 = 00000 40000000 f(z,y) =22 +%2 0 (0,0)
0000000000000

3-3 00 f(z,y) =e(cosy+siny) 0000 £(0.1,0.2) 000000 (3.8) 00
000000000000000000000000000000000000

3-4 20000 f0 ‘0000000007 00220000 ~(¢) 0000 ¢00
00000000000000000 (3.9 00000 1000000000
000000000000



